Time: 10 Minutes | Paper Math 6 (T-1) Total Marks: 10

| 1st Month, 1st Week, 4th Day | Unit # 1: Factors and Multiples |
Q.1. Choose the correct options.  (0.5x6=3) - ) /',..,« & l(..,«lﬁc/u
(i) What are the prime factors of 16? U QGEJ/"‘LM
@] 2222 |m)| 2x2x4 [@©| 2x3x2x3 [@)| 2x2x3x4 |
(ii) Prime factors of 9 are: :ug)b;/’£9
()| 2x2x2x1 ()] 3x3  [(©] 3x3x3 |@] 1x9 |
(iii) What is the index notation of 2x2x3x3x3?
?+guwufﬁlJ 2x2x3x3x3
(@) 22 || 32 [@©] 2>3° @] 3°x3° |
(iv) What is the missing number 11811 the figure? ?‘Lgﬁxﬂ‘” tef

(a)] 3 ()| 8 ) 9 (@) 12 |
(v) Missing number in the given figure is: :‘L;ﬁr)"‘ Lu.'.'gf"" @/ U

a1

X

@ 11 (® 13 J@ 17 |J@ 19 |
(vi) What is the missing number in given shape? 1‘4)10")1” Luﬁdﬁ 6(5)

(a)] 2 ()| 3 () 5 (d)] 7 |
Q.2 Find the prime factors of the following numbers using factor
tree method then express in index notation:(i) 125  (ii) 1512

(1.5x2=3)-uf7u:ﬁiufﬁ%q/?kﬁlxl;ﬁc_& L8280 S 5t

Q.3 Prove that prime factors of 2600 are same using division
method and factor tree method. (1x4=4)

U e 3 pESIO6) Bl BFE £ L2600 S Sert
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